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GENERAL INTELLIGENCE

DHrections : In question nos. 1 to 6, selegt
the related letter/word/number from the given
alternatjves,

Directions : In question nos. 11 and 12, which
one of the given responses would be a
meaningful order of the following 7

I. Hen : Egg «: Tree : 7 1. 1. members 2. city 3. village
{A) Bark (B) Seed 4, family 5. community
(C) Leaves (D) Fruit a4 l.532 @) 1,45%37
2. Nail Cutter : Nail = Gillet : 7 © L2345 D 541,32
(A) Blade {B) Head 12. 1. Metil 2. Alloy 3. Ore
{C) Razor (12} Knifa 4, Purification 5, Spare parts
3. Window : Pane : Book : 7 Eg;l ;r ﬁtl ?" :1 ; Eg;; ;r ; ?I f :
(A} Novel (B} Glass PR i
() Cover (L) Page Directions : Tn question nos. 13 1o 17, a series
) gl : is given, with one term/tumber/ letter missing.
4. DHPV : EGQU x: BINT - 7 Choose the cemect alternative me the given
(4} CIOS ':B;} CHMR ones that will complete the series,
(C) CGPU {0 CKPU
; . 13. LXF. MTI, NPN, OLR, 7
e '.'-I'q L 3‘—13 e ﬁ"' o f.lal.J FIU [‘E} PP]'llr
. .‘::.‘-1}-'2}'_';' > cebabb = xyvazy : 7 14. BDE CFL. DHL 2 i, "
(C) abbeca {D) cbbaah (C) EML D) EMI
D;remifng In juf'.;stmz n;ns 7 :EE 10, :EIE':;LH]E 15. ALN, DNF. GPR. 7
:;;g: 5;:: is different from other three (A) KLM (B} IRT
' {C) RNU (D} RNV
1. (A) Gui B) Violi
EC; H':: El:rf': ‘iﬁ::r:: 16. 1-5, 23, 31, 39, 9
(A) 312 (B) 47 (©) 49 (D) 51
8. {A) Tomat B) Porat
::C; P Eﬂi 2;‘? 17. 14, 28. 20, 40. 32, 64, 7
! (&) 52 (B) 56 (C) 128 (D) 48
9. (A) 125 (B) 343 : i : E .
(©) 516 D) 729 18. Which will appear 3rd in the Idu:.tlunan.f .
{A) colloguy (B) collinear
10, (A) 100 (B) &4 (O} 125 (D) 216 (C) collegiate {D} collision ¢
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AT - |
AT g

T - mr o 1 &% 6 7 ¥ 23 ) et 6 &
AT W4/ 4/ e = 9|
Lyl w430
{A) BW (B) s
(C) whwa (D) &
P R -
(A) = (®) fim
(C) & D) 1%
3. fasdt - o T+ 7
(A) 9910 (B} st
(o (D} 95
4. DHPV : EGQU - BINT: 7 ¢ L
(A) CIOS~~ (B) CHMR
(D) CKPU

(C) CGPU

g,
s -'-1|9:343 64 2
(A)512 (B) 412 (C) 416 (D) 516

- 6, xxyzyy : cohabb o xyyzzy o7

{A) abbacc {B) bbacca
(C) abbcea (D} schbaab
s« oo T 78 10 79, 38 T A e e
el & firr &)
7. (A) fer (B) amfam
(C)s FEH (D)
8. (A) ZATET (B) &
(C) oTs (D) M
9. (A) 125 (B) 343
(C)4516 (D) 729

10. (A) 100 (B) 64 (C)e125 (D) 216

e v de 11 sk 12 ¥, P Rmesi i 2
-7 fawer A B ww we ar o
ZyifaT & 7

1. 1. "% 2, W 3.
4. M@ 5 wEm
{4 4,1,5,3.2 (B 1,453 79
€) L2345 (D)541,37

12. | 91 2 fag 3
4. s 5, wfEfE g
(A) 3, 1,245 (B) 31,254
(€3 34.1.25 @351,24

R : 91 e 13 & 17 7% 7 w g B
&, e o w/hen/ /e qm 2) Ry om
Foeret & 3 s w faew g =i s g |

13, LXF, MTJ, NPN, OLR, 9
(A} PIU (B} PPV
(C} PHV » (D} PIW

14. BDF, CFl, DHL, ?
(A) EIO?
(C) EML

15. ALN, DNP, GPR, 7
{A) KLM (B} IRT»
(C] RNU (D) RNV

16 1533711539 707
(A) 312 (Bl 47 (C) 49

17. 1428, 2074073554 % i

(A) 52 (B) 56+ (C) 128 (D) 48
18, ST 3 3 3 e e fwar 2 7

(A} colloquy (B) collinear = &

(C} cn]llegiate (D)-collision 5 # Jn'

iE]

(B) CIM ™~
(D) EMI

(D) 51
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turns right to travel 2 km. Now he tums
right and travels 3 km. In which direction is
he now positoned with reference w the
starting pomng 7
(A) South-East
(C) West

{B) North-West
(I North

20. X is poorer than W, but not as poor as B.
C is not as poor as X, Who is the poorest
of all ?

(AJB ®mX (@©C MW

21, The bus for Chennai leaves every
30 minutes from a bus depot. The enquiry
clerk told a passenger that the bus for
Chennai left 10 minutes ago, and the next
bus will leave at 10:30 am. What was the
time when enquiry clerk told this ?

(A) 10-20 gm.. (B} 10-10 am,
(C) 10 am. (D) 930 a.m.

Directions : In guestion nos, 22 and 23, from the
given allematives select the word which cannot
be formed using the letters of the given word.

21. Ecofriendly

(A) Lend {B) Friend

(C) Life (D) Coffee
23, "LIBERALISATION"

{A) RATIONAL  (B) BEST

{C} RELATION (D) RELATE

24, In a cenain code, PRIEST is written as
OQHDRS. PRISTINE can be written as
(A} OQHRSHMD (B) OSHRQMDH
(C) QORHHSMD (D) QOHRSHMD

25. If DEAN is written as NOKX, how NEED
be written in that code ?

&0 1N 4 Certgin code, UIFEHEAL VN 15 WIS
us EPOTARNOIL Which word will
wriiten as ORPSECSES T

(A) PORCESESS (B) PROCESSES
{C) POSSESORC (D) PROSSESC

Directions 1 In question nos. 27 to 30, select th
mizsing number from the given responses.

27. | 3 4
3 2 B
26 13 £

Ay 12 (B) 3% () 3 (D) 80
8. 10 11 12

103 126 ?
(Al 144 (B} 149 {C) 3 (D) 2

29, 7 23 21
| 3 7
2 5 7
3 4 3
iA) | By 0 (Cy 2 (D) 3
a 157,
2 8 3
E__i B 2 1 3
(&) 3 {].H @ 57 D3

31, Srini is taller than Anlu. Ragu 15 taller than
Chandru but shorter than Brinda. Srini iz
shorter than Chandru. Who is the tallest 7
(A} Srini (B] Ragu
(C) Chandru (DY Brinda

32, If - stands for addition, '+' for mulb-
plication, ‘+" for subtraction and ‘%" for
division, which one of the following
equation is wrong 7
(A) 5=2+12x6+2=27
(B) 342-1256x2=13

(4) NOOX (B) XONO (C) 5+2-12x6+2=10
(C) ONOX (D) XOON (D] 522+12%x6-2=3
SPACE FOR ROUGH WORK
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19, & T & v fwm & § f & am ao
& g A an g 2 et ff e s
% | o A qee 5 (a6 g a2
3 o H 7w A w4 e R
H ope A g
(A) Zlam-mds  (B) TE-aheE
(C) W= (D) =
20. X, W & g § e g, of B e
e T8 g ¢ X e w9 g
AGTAR B T Fi ¢ 1
(AwyB (@B X {(€C1C (MW
21. uF A e A = & o oarw 30 e e
T ZEA & | 79 qEaTe-FEE A 0 g
1 aml {6 998 &7 39 10 fimz 75
5 et R i SRR @ 10-30 79 T F |
1 FEER, v 99 TOE-RHART 4 78 §E
&, fT T AT |
(A} 10-20 97 {B) 10-10 97
(C) 10 97 (1) 9-50 96 «
Py ; oy |enr 22 o 23 F, et faaet
% # s g0 97 B T aE F A g e
S ARl I A AT |

22, Ecofriendly

(A) Lend (B) Friend
. (C) Life (D) Coffee
23, ‘LIBERALISATION’

(A) RATIONAL  (B) BEST

(C) RELATION (D) RELATE ®

24, TF F2-9747 # PRIEST &1 OQHDRS fom

m%m@ﬁgﬁsﬁﬁ F & gEw

e

2. TF FZ-9MT H  OPERATION &
EPOTARNOI foram wmam & | asqew, 98
g5 &A1 2, e ORPSECSES frar
ST ? FROCES SES

(A) PORCESESS (B) PROCESSES =
(C) POSSESCRC (D) PROSSESC

Frar ¢ v AmaT 27 4 30 A= o f5u g faeet |

7 AR I #W S
27. I I T
5 2. 8 &Y
26 I3 ? -
(A) 12 (By 32 (Ch3 (D) 80« i
a5 «*3 ik WY,
28, 10 0 12
105 126. !
(A) 144 (B) 149°(C) 3 (D) 2
g
- b -;r “33'*";' 2?1" %
1
2 5 7
3 | 3
A1l ®0 ©2 D3
55 OE
0. ML 3. T
aRcia i
“""}'1?”:?{:'?”9

31, 4, ¥E H FET E o o, ﬁﬁaim%,
AfEA 771 & 2 # | T a4, w9y 4
BT | A, w A A
(A} AT 1R e oo
(€) 77 (Dp T

frraT @ ! 32, :r&“a‘ﬁiraﬂﬁgﬁ,*;waw---qal“-
(A OQHRSHMD (B) OSHROMDH F A3 % furew =, o fw F - H‘I
(C) QORHHSMD (D)} QOHRSHMD AT e B ] |
25, g% DEAN &7 NOKX fﬁwm.fﬁNEﬁ;D (A) 5-2412x622=27 \ L
=7 99 - # ur fermr s (B) 542-1226x2=13 >
(A) NOOX (B} hGND {C) 3+2-12%x6+2=10 ‘
(C) ONOX (D) XOON = (D) 5+2+ IEi-:ﬁ—’..":?: 2 |
man F fmam ger | ‘
-1 E s
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33, Five friends are sitting in a row facing
south. Here Mohan is between Balu and
Raju and Raju is to the immediate right of
Praveen and Amith is 1o the right of Balu,
Who is in extreme right end 7
(A} Amith {B) Baly
{C) Praveen (D) Mohan

M. Bam starts from his house walks 4 kms
North, then 3 kms West, then 8 ks South,
How many kilometers away from his home

was he ?
(A) 6 kms (B} 7 kms
(C) 5 kms (D} 8 kms

Directions ; In question nos. 35 to 37, twolthree
statements are given followed by twod four
conclusions I, 10, 11 and IV, You have 1o consider
the statements to be true even if they seem to be
dal varance from commonly known facts, You
have to decide which of the given conclusions, if
any, follow from the piven statements.

35, Statements : 1, In our college, all | year
' students are cricket fans.
2. Of the 1 year students
some are also rennis
fans.

3. Some tennis fans are also

foathall fans,

‘Conelustons : In our college,

I. All others, except [
year students, are
noet  fans of any
game,

IL Some I year students
play cricket.

L All T year studens
are football fans.
IV, Some I vear students
are not foothall fans.
(A) Only conclusion [ follows
(B) Only conclusion 1T follows
(C) Only conclusion I follows
(D) Only conclusion IV fallows

36, Statements - . Some books are

T IS
2. Some caleolstors  ape
Conclusions : 1  Some mobiizs  ape

[l Some =ohiles g

(A} Only conclesion T follows
(B) Only conclusion I fodioms
{C} Both conclusions | =d [ follow

(D) Neither conclusion | nar & fodiows

37. Statements - 1. No 8 T E § DOl

2. No potis 3 garden
Conclusions - L No fower & 4
Earder
IL AN gardiens e pots.
(A) Only conclusion [ folles
(B} Only conclusion IT folloss
[C) Both conclusions T and | & T
(D} Neither conclusion I s I fallows

Directions : In question noe. 38 wme 39 if 4
mimor is placed on the line 1v. thes wi=ch of the
answer figures is the righe imass of the gjven
figure 7

38, Question figure

I —
j:

Answer figures

= 1 7]
= LINE |} g
=]

(A (B} (C B

SPACE FOR ROUGH WORK
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33, 7= fier o &, sfém R 2wm gu
B | 3 e, AT A U & A H Ak
T, T & e e A d d ) o
TE A0, T & T 9% & | AT, aEd
T E
(A) AP, (B) I
(C) TEM (D) =&

M AR R Y 4 I A g i)
3 ot ufvsm, e & fot afimr | &2 oy

7 # e e g 7
TARALLI (B) 7 fa
(C)e5 fomt (I & fm

39T ¢ 9 W= 35 4 37 9% H &1 /A At &
v ar /= e [ I I el o fer o & | s
TR S ) § R S AT aeked dir
Tz, AR AW o a1 | o AT & Boom

ylidud

36, %97 ;| IETEE A9G | (ﬁ’-
2 FewfafmamE
et - I F9 99, st 2 |
I 3@ 99, 7595 & |
(A) Faw fred | 31 2

(B) Fom Fewm 1 2% &
AC) T 1 qar g 2t S #

(D) 7 e 1 7 o A 2 &
V.79 . | FEH, AR 2 | ﬁ@
2, & amy, MET AR 2 |
frps - I = gof, anfea 4= B 1

[, &7 T, 979 ¢ |

;—'%FHTq%| AR Wmﬁ-_.. s (A) ¥a7 i 2 &
35, T4 |.s¢&ﬁamuﬁ,maﬁ?='_ (B) ¥ fed 1 3% 2
: gﬂw%ﬁmﬁm (C) fomnf 1 et 11 2 e ¥
2. a%”ﬁﬁéﬁﬁaemﬁmﬁsﬂ (D) 7 fead | 7 €1 1 &7 &
1 : : )
P : v s 38 ot 30 9§ af v adw #=5 fE
. & 2w ¥ T A, ge :
l'gﬁﬁmgﬁ | xy W TET S, A A g vl F
Gt . it Forery - /T e Tty i At o f ?
" 1 Ty v o & R
& 9w ot Rt &9 % | 38, T AmE
e AT T E | .
I % 790 a9 & fE=mdt 7
fae wwa | ik
0L oo a9 & o et :
FATH & A A & |
AT & AT a0 B § |
(A) s fRed 1 8t 2
(B Faw faad 11 & 2 o [1] E 3
(C) Faw faed 11 2
D) A fremd IV # ¢ @ ® © o,
% @ & fn
4 — MD 2012 (PTO.
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3. SEPTEMBER E
¥
{A) A3BM3TH32
(B) A3gW3TP3e
(Cy A38NW3T932
(D) A3aM3T932

40. How many squares are there in this figure 7

Question figure

A)d (BY5S (O 6 (D)8
41.

Find out the number of students who play
only crickel.
(A) 23 (B) 18 (Cy9 (D) 4

42,

In the above diagram, the rectangle repre-
sents males, the circle represents actors and
the triangle singers. Which numbered area
represents male singers 7

(A)E B)s ()5 (D)3

43. For the given set of elements ;
Keyboard, function keys, letter-keys

which figure given below will he
represent the relationship among  thes

three elements ?

@09 | 8

(A (B) (C D

iAya BB OC DD

Directions : In question nos. 44 to 46, from the
given answer figures, select the one in which
the guestion figere 15 hidden/embeddad,

44, Cluestion figure

Answer figures

E
(C)

(Al (B) (D]
45, Question figure
Answer fipures
|
=l|ll[=]
|
(A) (B) (C) (13}

SPACE FOR ROUGH WORK
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: 43, Wmﬁlﬁgﬁﬂﬂwrﬁﬁﬁ%

39. SEPTEMBER EREH“““'HE . 0 0w & fore, i ot st 3 &
- aﬁa—ﬁ%ﬁﬂﬁ%ﬂﬁﬂﬁﬂ#
(A) A3BM3T932 gfams & 7

(B) A38W3TP32

(C) A38W3T932 ® @ ©
(D) AFgM3T932* 9
@  ® © o

40, 57 oF # e nf # 2

T3 T (A)A (BB (©C @D
&Y« o9 HE 44 & 46 3 3t 7 e s
RO S 9 A a g S o e
oEA|
A4 B)S5 (6 (D& 44, TVT ITHTY
i1, @“—
| pa

ﬁ:aﬁrﬁrﬁwﬁm’i%ﬁ&%‘{%ﬁ'ﬁ FE rar H J

[
(A)25 (B)18 (©Q9 (D) 4i»

(A} (B) e (D)

T AT H R, e 7 de # T ATt

& | ey, Fi e ok, - ’EHWH:(’

FaTT e ?
(A)8 (B1 & (C) 5 M) 34 (A) (B)

(D) *

1} % w & fire v

| A - MD 2012 9 [FT.O.




46. Question figure

T

Answer figures

Y
(4] (B) (C) ny

47. Based on the relationship thar exists
between the first pair of figure, select the
figure for the second from the answer
figures,

(uestion figure

sla | |of

Answer figures

@ ® © (D

Directions : In question nos. 48 and 49, a piece
of paper is folded and cut as shown below in the
question figures. From the given answer figures,
indicate how it will appear when opened.

48. Question fipure

} b

Answer fipures

o

g T o a

CE]

= E oo '!"ll a a
(A) (B (C} (D)

o a a4 o o n[

49. Question figure

JH]F

Answer figures

B o0 @ ] &, fl [=] ] oo
o
o =] "

L= = ] ) =] & =] LK)

(A) {B} {C) ()

0. A word is representad by only one set

numbers as given in any one of the alte
natives, The sets of numbers given in
alternatives are represented by two classs
of alphabets as in two matices give
below. The columns and rows of Matrix.
are numbered from 0 to 4 and that g
Matrix I are pumbered from 35 to &
A letier from these matrices can b
represented firse by its row and nest by it
colume, e.g., "A’ can be represented by 13
23, ete. and 'K’ can be represente
by 35, 77, etc. Similarly, identify the set fo
the word STRONG.

MATRIX I MATRIX 11
0l1]z3]4 S[6l17]E]0
G|R[A|TI|N|G 5|K[s|T|O|C
tclr|al1|n alc|k]s]To
nlalr|alt 7lolclk|s|T
i[1|N]G[R]A s[Tlolc|k[s]
slaliln|G|r ols[T|olclk

(A) 36, 38, 11, 14, 13, 10
(B) 67, 79, 22, 86, 20, 21
(C) 78, B85, 33, 97, 32, 43
{D) 89, 95, 4, 75, 42, 32

SPACE FOR ROUGH WORK
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46, 5 ATHA 49, T4 Fha

K

I ATt
. : I AT
? [=] oo 1] hﬂ Qp 3 (=] -] E: oda
'.'- 6 ae a [%a n‘t:n:uﬁan
(A) 1B} (Cs (D) :
(A) (B) (C) (D)

47, WTFTET & Tee w3 e d ¥ v :
T, ﬁﬂﬂﬂ:ﬁﬁ%ﬁﬁﬁ%ﬁ 50, UF V5 #ad UF HEAT-AHE g et mr

gt | B, S B Bt # & Fey v ¥ Ry
T AT % | famwil 4 fim oo wer-we wed & A
T GTT = A F, ey AR A
all:l DT& =] 2 g § & | g 1 & i o o A
HET O H4 MR AR ATEE TS HOL |
. Tt T AR H UF A FOoEer geey ofew |
— 31T ATE W Fr e g1 ayiiar A Al |
*E* . N *l@ Fan & faw, ©A' =1 12, 23, 7% grT Ewar
* * ! ] HERA & T K T 55, 77, #f g awhn
A @® C)r (D) o & £ | 15 AT 9 STRONG % ferg “H:’
T3 ¢ TN T 48 W1 49 F A we Al T O e
= ST S HR S 1A S 9 8 & MATRIX 1 MATRIX II
=% T foR I AT Sty faw A NREEL s[a|7]8]0
48, TH AT O|R[A|1|N|G AEE R EE
1|G(R[A|T|N |C|K|§|T|O
: E ACTE IS E lo|Cc|kis|T
il T]N]G]r]A s|Tlo[clkis] |
; 4|A|LIN|G|R sls|T|o|c|K
TR AT s "
(A) 56, 38, 11,14, 13, 10 |
: ae : 5 06 4 (& Eg C] . ._.,ED y [BIJ ﬁ:-_"qlp'; 2}; F:ﬁ ZEL 2;1.‘3 II
= =~ F - 2 (C) I8, 85, 33, 97, 32, 43
(A) (B}  »(C) (D (D) 89, 95, 44, 75, 42, 32]
- TF F F e
- MD 2012 11 [ET.0.
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FOR VISUALLY HANDICAPPED CANDIDATES ONLY

Directions : In question nos. 38 and 39, select
the related letrer/word/number from the given
alternatives

18. Soldier : Gun :: Chef : ?

(A) Pen (B) Needle

(C) Spanner (D) Knife
39. Tahgn : Dance = Elegy : 7

(A} Stanza {B} Rhyme

{C) Poem (D) Song

Directions : In question nos. 40 and 41, select
the one which is different from the other three
responses.

40, {A) Japan (B) Nepal
(C) France {D) China
41. {A) AST (B) EPR
(Cy IMN (D} WOS
42. Arrange the following words as per order in
the dictionary.
1. occupy 2. obtrude 3. obverse

4. occasional 5. occurrence
(A 2.3. 451 (B) 243 L3

© 234145 @ LG8, e J

F HWiiehd wond W dppear fsi B dfe /

dictionary ?
{A) Appropriate
(C) Approach

(B} Approximate
(D} Approval
Directions : In question nos. 44 to 47, select

the rmissing numberfiefter from the given
responses.

WILEM AM?
(A) A B) S
{C) ] D) O

45, JAK, KBL. LCM. MDXN. °
(4) DEP Bl NEO
(C) MEN ™ O

46, 2,1, L. 4.7

the miven word

“INTELLIGENCE
(A) GENTLE By NEGLECT
(C) TELLING D' GENERA

=

15 he oo

(A) North

]

-
L]
1

(C} South Wess D West

50. If lead 15 called stk stick = called mib,
nib is called needle, nesdle s called rope
and rope is called thread whar will be
Tied o pem i e with, "

{A) Stick

- " .
| 74 A |
] Za

':E ) Nesdie (M Nib

SPACE FOR ROUGH WORK

A~ MD 2012 12

@ & ¥
) = D=
47. 2
(A) O3 B) &
(C) 39 D) 35
48, From the given altersaiives select e Wi
which canmot be formed esing the letiers of

= e e l-\.|-r-_ -
49, Robert who i jacms wis IEes 140 1 the
clockwise dmechon =t IEd T ™ Yt

-




S gz Tt 3 Ry

e « 79 e 38 ot 39 3 fim o et 2 1
T ST/ v /e g |
38, ﬁ’:ﬂ'b:r:aﬂjﬁ:: THIAT : 7 '
(A) wae (B) 7%
(€) TR (D) =g,
39, &0 . F - a9
(A) 95 (B) g%
(C) (D) T
AT I W 40 R 41, o i s g
719 et & fm 2 :
40, (A) T (B) #are
(C) T (D) |t -
41, (A) AST (B) EPR
(C) IMN (D) WOS
12. frfafam =2t &t st & R g 5
FHT o | '
[. cccupy 2. obtrude 3. obverse

4. occasional 5. occurrence
(A) 2,3,4.51 @)Y 24315
(G 23415 (D)4, 51,213

43, SN & FATHR S-AT e 99 T

e ?
(A) Appropriate  (B) Approximate
{C) Approach (D) Approval

e« 5 W 44 8 47 7 o R e

45.

46.

47

48,

49,

JAK, KBL, LCM, MDN, 7
(A) DEP (B) NEO
(C) MEN (D) PFQ
2L 4 40
(A 4 @) §
) 2 (D) &

2 9

T B
(A) 65 (B) 60
(€) 39 (D) 37
ﬁﬂﬁﬁﬁﬁmﬁﬁﬁaﬁmﬁﬂﬁqﬁﬁq {ﬁ

T 1% 3 AT 7 G40 Sk AEf ST A
T |
“INTELLIGENCE"
(A) GENTLE

(C) TELLING

s, o aa ufem T AT R, 1000 wd
o a7 o fo ¥ e, 1650 o St
& fadier ot v & | e ow AR
fe & gr s 7 .
(A) (B) I
(©) e afésr (o) g ‘

(B) NEGLECT
{D) GENERAL

- A i A feee v e, o ) Frmofie |

P al g, gt wh et ot e ()
|

7 A &% /99 7 i | an, A f i # fom & o s s |
4. LEM A M 7 o ! '
(4) A (B) (A) fe= (B) AT '
(C) D) 0 (C) T2 D)
™ wr & fag wm
A - MD 2012 [PT.A,
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PART - 11
ENGLISH LANGUAGE

Directions : In question nos. 51 to 56, some parts
of the sentences have errors and some have none.
Find out which part of a sentence has an error
and blacken the oval ] comesponding o the
sppropriate letter {4, B, C). If a sentence 1s free
from emor, blacken the oval corresponding to (1)
in the Answer-Sheat,

51, “I_
(A)

Mo error.
{D}

am having  three children.

(®) ©

. All mnngoé;‘- in this l:la;.-‘.kn:[
(A) (B)
are pver-ripe.  No erTor.
B (&3] (D)

Why
(A)
" to the workshop ?

(<)

they didn't turn up
B -
N error,
(D)

54, We are leaving for Kerala today.
(A) (B) (€

No emor.

(D

55. We have toreturn back  immediately.
(A (B)a (C)
Mo error,

(D}

56. Hari lost
(A}
yesterday.
(C)

a hundred rupees nole
(Bje
No errof,
()

A - MD 2012
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Directions : In guestion nos. 57 to 61, seniences
are given with blanks tw be filled in with
an appropriate word(s). Four allematives are
suggested for each question. Choose the comect
alternative out of the four and indicate it by
blackening the approprizte oval [@] in the
Answer-Sheet.

57. They live the fifth floor.
(A) in, (B) 10
{C) on . (D) at
58. America was by Columbus.
{AF dis.cm'cr'fd. (B) found
(C) invented (D) reached
59, Will you please . me a book ?
(A} bormow (B) lend
(C) have to borrow (D) have to lend
60. My cousin will amve Sunday.
(A) m (B) ate
(C) the (D) on
61, The boys went inside ool
(A) of the (B the
(C) to tha (D} of

B L ———————————



Directions : In question nos. 62 to 64, out of the
four alternatives, choose the one which best
expresses the meaning of the given word and

mark it in the Answer-Sheet,

62. Diligent
(A} Desirous

(CYy Ridiculous

(B) Hardworking

(D} Assiduous

63. Blunder
(A} Blemish (B) Danger*
(C) Worry I{D]I Mistake
64. Coarse
(A} Smooth {B) Refined
(Cy Suff (D} Rough

Directions ¢ In question nos. 65 to 67, choose
the word opposite in meaning to the given word
and mark it in the Answer-Sheet.

65. Triumph
(A} Defeat* {B) Victory
(C) Success (D} Subjugation
. Rancid
(A) Pumified {(B) Delicious
(C) Fresh (D} Stale «
f7. Reveal
(A) Cc:unr:.eaL {(B) Insert
(C) Excavate (D) Absolve

A - MD 2012
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Directions : In question nos. 68 to 72, four
alternatives are given for the Idiom/Phrase.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase and mark it in the
Answer-Sheet.

68. Fall flas
(A) to fail to stand
(B) to fail to realise

(C) to fail 1o maintain

(D) to fail to produce intended effect

69, Carry weight
(A) to carry burden (B) carry the day

|{l1:]|g be important (D) camy through

70. To pass away

(A) toignore (B) walk past

(C) die * (D} revise
T1. Tum down

(A) to accepl (B) reject+

(C) twist (D) weave
72. Die hard

(A) unwilling to change
(B) ready to change
(C) egaoist

(I3} arrogant

[ET.0.



Directions : In question nos. 73 to 79, a part of
the sentence is underlined. Below are given
alternatives to the underlined part at (A), (B, (C}
which may improve the sentence. Choose the
cotrect alternative, In case no improvement is
needed, your answer {s (D). Mark your answer in
the Answer-Sheet.

73. 1 prefer tea rather than coffee,

(A} and (B) over

(C) to- (D) No improvement
74. The carpenter did not keep his promise that
the work will be {inished before the end of

the week.
{A)} can (B) could &

- (C) would (D) No improvement

75. Try to understand the confidence of your
) opponents before you take any step against

them.
{A} motivation (B) nspiration

() motive (D} No improvement

76. A lot depends on your early brought up in
the famuly.
{A) bnanging {B) bring up

'

{C) upbringing (D) No improvement

77, The dictator declared an emergency in the

couniry,
(A) proposed (B) decreed
{C)y ordered » {D) No improvement

78, She is loving chocolate ice cream.

{A) has loving {B} has been loved

(C) loves 4 (I} No improvement

79, James had been teaching at the university

since June.
(A) has been Iteac:hing
{B) have been war.:hlng
{C) is eaching
(D} Mo mmprovement
Directions : In question nos. 80 to 83, out of the
four alternatives choose the one which can be
suhstituted for the given words/sentence.
80. The first speech made by & person,
{A) maiden #
(C) debate

(B) extempore ¥

(D) palaver

1. A person who is well-known in an
unfavourable way. '

{B) obscure

(D) ethical

(A) notorious

(C) vconsploudus

43, To write under a different name.

(A) Yanonymous (B} biography

"{C) pseudonym (D} masquerade

83. That through which light cannol pass.

.{A} lucid (B) transparent

(C) hazy (D) opagque
Directions + In question nos. 84 and 85, there
are four different words out of which one is
carrectly spelt. Find the correctly spelt word and
indicate it by blackening the appropriate ovil
[@] in the Answer-Sheet

84, (A dissatisfied (B} disansfied

() disatesfied (D) dissatesfied

85, (A) monnotomnus (B} monotonus

(Cx monctonous (D) monotonas



Directions : In question nos. 86 to 100, you have following two brief passages with 10 questions in
Passage [ and 5 questions in Passage IT. Read the passapes carefully and fill in the blanks with suitahle
words out of the four alternatives given.

FASSAGE T (Question Nos. 86 to 95)

There 15 an enemy beneath our 86 . He recognises no national boundaries, no 87 parties,
Everyone in the world i _88_ by him, The enemy is the Earth itself. The 89 of a quake is greater
than _90 man himself can produce. But _91 scientists are directing more of their _92 into finding
some way of 93 earthquakes and it is possible that at 94 time in the near future, 95 will have
discovered a means of protecting itself from it,

86, (A) shelter (B) feet {C} land (D) surface

87. (A) economical  (B) historical (C) geographical (D) political

88. (A) threatened (B) feared (C) effected (D) dominated
89. (A) strength (B) power {C) force (D) ability

90. (A} everything (B) nothing (C) something (D) anything
91. (A) this day (B) today {C) lately (D) at present
92. (A) efforts {B) strength (C) capacity (D rasks

93. (A) watching (B} directing (C) opposing (D) combating
94. (A) any (B) some (C) every - {D) all

95, (A) scientists :(H} humanity (C) people : (D} mankind

PASSAGE II (Question Nos. 96 to 100}

As well as [ could make out, she had come for good, and had no intention of ever going again. She
began 96 help my mother 97 morning, and was 98 and outof 99 store closet all 100 |
putting things to right, and making havec in the old arrangement,

96. (A} 10 (B) so (C) of (D) with
97. (A} tomorrow (B) next (C) later " (DY soon
98. (A) out (B} off {C) of {D)

99, (A) the (B) there (C) then (D} thus

100. (A) days (B) day (C) thing (D) things



101. The largest among the numbers (01)%,

102, If 11421431 +41 4

PART - I1I
QUANTITATIVE APTITUDE

00121, 0-12 and JO-0004 is

(A) (017 By J00121
(Cy 012 (D7 00004

.+ 100! is divided
by B then the remainder 1s

(A) L (B2 ()3 (D35

. The last digit of 340 is

(A) 1 B3 ©Q7 M3

« 30 men can repair a road in [8 daysg,
They are joined by 6 more workers. Now™}

the road can be repaired in e ¥,
(B) 15 days A* 4 [

(A) 14 days
(Cy 16 days {07 17 days

. A, B and C can cﬂmpm_& a prece of work

in 12, 24 and 36 days respectively. In

how many days will they together com-, &

plete the same work ? e
a
(&) 5 B4 (C e D6 2

. The selling price of a video game is T 740
and the discount allowed is 7-5%. Tht

marked price of the video game is "¢ rcﬂ ¥
.1
{B) = 700 3 -a;';ﬂ

(Al T 600
(Ch T 800

. In selling an article, the single discount
equivalent to two successive dlscnunl.‘s of
25% and 3% is ak ’4-'5
(A) 2875% {B) 30% E*" '-"
{C) 27-5%
. To gain 8% after allowing a discount of
L%, by what per cent cost price should be
hiked in the list price ?

(4) 9% (B} 11% (C) 18% (D) 20%

(D) T 900

"H-r_‘"

D) 26% m-"
]

109, Two vessels A and B contain milk and

water mixed in the ratio 4:3 and 2 3.
The ratio in which these mixture be
mixed to form & new mixiure containing
half milk and half water is

(A) 7.5 (By 6:5

() 536 (D) 4:3

. The ratio between Sumit’s and Prakash's

ape at present is 2: 3. Sumit is 6 years
youniger than Prakash. The ratio of
Sumit’s age to Prakash's age after 6 years
will be

(A) 2:3 By 1:2

(C) 413 D) 334

. A milkman makes 20% profit by selling

mitk mixed with water at ¥ 9 per lure. If
the cost price of 1 litre pure milk is T 10,

% : i 1 :
then the ratio of milk and water in the said

mxiure is
(A) 311 (B) 4:1
ey 32 (D) 4:3

. Average age of § men is increased by

3 years when two of them whose ages ‘are
30 and 34 years are replaced by 2 persons.
What is the average age of the 2 persons ?
(A} 24 years (By 32 vears
(C) 44 years (D) 48 vears

. The average age of a famly of 10 members

is 20 years. If the age of the youngest
member of the family is 10 years, then the
average age of the members of the family
just before the birth of the youngest
member was approximately

(A) 27-14 years (B} 12:5 years

(C) 1428 years (D) 1401 years

SPACE FOR ROUGH WORK
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A6T -~ IT1

AT dfaemar

101, (0-1), 00121, 0-12 Far 00003 3 et
CHIG I R

(A) (01 (B) 00171
(C) 012 (D) Jo-0004

102, 3% 1420434404+ 100! 3 8 &
femfsrr feam o, &1 dver forr gy 2

(Al 4B)2 ()3 (D 5
103, 30 77 sifim = fmmm dp 7
A) 1 (B) 3 ©7 @39

104. 30 AT U fi5h it 7w 18 ff o it
FAH ¢ | afs T a9 6 wwr 5w
ﬁumq,#agmﬁa%ﬁﬁﬁq-ﬂ
AT ? _

(A) 14 Fm By 15 o
(C) 16 fimr ™ 17 &=

105, A, B &0 C 0% 7 $%: 12, 24 797 36
fott & o7 o wet | A, ¥ o A
frera, a @ famd ot § a7

- WSE B4 CreE s

- 106. U AMfET- 7 -y 740 2 5

W% gedi vl | qeER, SEE

A= famr g ?
(A) T 600 (B) ¥ 700
{Cy = 800 (D) 7 900

107. {3t 7 91 3497 7 25% 77 505 o wfire
E, O T g2 & w  fer an 7

109, 31 S A 741 B ¥, 79 % 7 21 e
4:3 FI02:3 & aqaa & fiemr oy 2
TR, 3 & T G e
fRerr ST, £ 7y fir amd =y o amt
ST % ST 3 A g a7
(A) 7:5 (B) 6:5
(C) 5:6 (D) 4:3

llﬂ.gﬁﬁaﬁrmﬁrmmﬁhﬁmﬁr
2:3 T i, W A 6 of gy 2y
G 6 FU A, gl o w6 a

Eﬁrwﬁamgimmj ¥
#{A) 2:3 By 1:2
(C) 4:3 D)y 3:4

111, T qEmaT, 39 g0 & 9 frema 7 9 ofy
A1 T A7 # A 20% T mamE
© | 3% 35 98 97 £ A v 10 7F e
ﬁ.ﬁﬁﬁ!ﬂﬁ@ﬁ{mﬁww
fereeT 2 7 :
(A) 3:1 (B) 4: 1
(C) 3:2 D) 4:3

2. R0 IR M S afed s am
2 7 =afeh T A A i R e, &
8 =fewll & 3 7 1 st g o 3 At
#1912 & w1t & | qeam, 79 4 v sfy
F1 AT Ay foreit 2 7
(A).24 9 (B) 32 af
() 44 of (D) 48 =

113, Jumﬁ%rﬁwﬁmsﬁraﬁmmmﬁ

(A) 28:75% (B) 30% | 3 3 view ¥ w9 wem 41 am

(C) 275% (D) 26% 10 35 BT, a7 3% 759 97 7o ¥ o it

108. it g 1 10% 2 39 89 v o 1% T, 9Pt ot ot s e Pty

e, e o 3 e e o1 e o 2t ?

FAT B 7 q4) 2714 7 (B} 12:5 T
(A} 9% (B) 11% (C) 8% (D) 20% (C) 1428 af (D} 14401 T
L G BeRp

EL A . |

A RATY T




Ild:

115.

116,

117.

118.

119.

120.

The average of I"um consecutive even
numbers is 13. The 2nd highest number is

(Ay 12 (B) I8 {C) 14 (D) 16

A man sells two chairs at T 120 each and
by doing so pains 25% on one chair and
loses 25% on the other. His loss on the
whole in ' is

(A) 20 (By 16 (C) 25 (D) 30

A book vendor sold a book at a loss of
10%. Had he sold it for T 108 more, he

would have eamed & profit of 10%. Find
the cost of the book.

(A) T 442 (B) T 540
(C) Tods (D} ¥ 740

A sells a cycle to B at a profit of 5% and
B sells it to C at a profit of 10%, If C pays

T 2310 for it, the cost price of A i
{A) T 2000 (B} T 2100
(C) % 1900 (D) < 2010

A number is divided into twa parts in such
a way that 80% of Ist part is 3 more than
60% of Ind part and 80% of 2nd part is 6
more than 90% of the lst part. Then the
number is :
(A) 125 (B) 130 5
{C) 135 (D) 145

A reduction of 10% in the price of wheat
enables a man to buy 50 pram of wheat
more for a rupee. How much wheat could
originally be had for a rupee ?

{A) 400 grams (B) 300 grams

{C) 450 prams (I3} 350 grams

A train starts from a place A at 6 am. and
arrives at another place & at 4-30 p.m. on
the same day. If the speed of the train is
40 km per hour, find the distance travelled
by the train ?
{A) 420 km
{C) 320 km

L s

(B} 230 km
(D 400 km

111

122

123.

124,

125.

126.

(A) 5

() 64 cm?

P’ rravefs for hnun- at tha rate of 5 km/
hour and for 3 hours at the rate of 6 km/
hour. The average speed of the journey in
km/hour is

)3l ® 5t © 13 O 24

A certain surn of money at simple interest
amounts to T 1012 in 21 years and to
% 1067-20 in 4 years. The rate of interest
per annum 1§

(A) 25% (B) 3% (C) 4% (D) 3%

A certain amount of money at r%, com-
pounded annually after two and three vears

becomes ¥ 1440 and T 1728 respectively.

ris

(By 10 (C) 15 (D) 20

The edges of a rectangular box are in the
ritio'] 1 2 ;3 and its surface area 1s 88 cm®.
The volume of the box is

(A} 24 cm’ (B) 48 cm?

(D) 120 em’

For a tmiangle, base is 643 em and two
base angles are 30° and 601°, Then keight of
the triangle is

{A) 33 em (B) 4-5 em

{C) 443 em D) 243 em

The base of a right circular cone has the
same radius @ as that of a sphere. Both the

sphere and the cone have the same volume,
Height of the cone 15

(A) 3¢ (B) 4a (C) Ja (D) Ia

- The radius and height of a ¢ylinder are in

the ratio 5; 7 and its volume is 550 cm?.
Calculate its corved surface area in

Sq. CITL.
(A) 110 (B) 444
(C) 220 D) 616

SPACE FOR ROUGH WORK




114,

115,

116,

117.

118.

119,

120.

'Qi-i-‘l\'f-i-’ g D ) Wi e g
Uy +le = |:.'":
g% g~ g
TUbBoke: Iz
i AR #tad 15 2
Rt S R A A o adt
oy # 7

(A) 12 (B) IEE{’C} 14 (D 16
U = & 3t T 120 9 5 A w
T | T O o s Ay
miﬁ?gﬂﬂﬂtgs%gﬁ:mg]m
AT I Bl A g i

TEAAT, I

(C) T 648

A T AT g Frse T T dar £
B 8 F ¢ 37 109, GIEREE R & ¥
LM CF T 200 Redi a4 o
T A et g # 7

(B) % 2100

(C) T 1900 D #2010
Emﬁﬁwﬁﬁwmaﬁwﬁ
%ﬁ?}mwsﬂ%,@m%m%%s
fim & ozt s 3y goep, R
Pﬂ%ﬁ_ﬁafﬁﬁn%lﬂﬁm??@#ﬁ?ﬁﬁﬁ

g7
(4) 125 (B) 130

(C) 135 (D) 143

T & a7 ¥ 109 BN R o
ﬁﬂﬁﬁjﬂﬂmﬁ’iﬂﬁlﬁﬁﬁ?mgl
T B T, o o
BRET T Haa oy 7

(A) 400 T (B) 300 apre

(C) 450 a7y (D) 350 7
mmﬁmﬁaﬁa-mmwm
&, 7w B 4-30 6T TE=AT 2 | of3
A L i af 4 febatt wfer oy 2 i,
iﬂmﬁmaﬂﬁnﬁz_ﬁ%ﬁﬁ?

(4) 420 fwy (B) 230 it

© 305 @) 400 st

| 121,

123,

124.

1285.

126,

127

P, 6 %2 T 5 it /o, 1y 2 sy e
%aﬂt_ai*r?rﬁiﬁﬁm”rﬁ.&‘?mﬁfﬁw
T E| TR AT i afy fam
Femdt /o, & 7 |

(A) 3z B 51 1§ (D) 22,

121@%:&%%&{% 21 anf &

ﬂmza?maﬂ‘ffffmﬁ?-zuﬁaﬁ%l
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128. If the length of each side of an equilateral
triangle i3 increased by 2 unit, the area is
found to be increased by 3+J3 square
unit. The length of each side of the triangle
18

(A) 43 unit
(C) 343 unit

{B) 3 unit
D) 1++43 unit

129. The diameter of the moon 15 assumed to
be one fourth of the diameter of the
earth. Then the ratio of the volume of the
earth to that of the moon 18
(A) 64:1 (B) 1:64
(C) 60:7 (D) 7:60

130. If a linear equation is of the form x=4k
where k is a constant, then graph of the
equation will be

(A} a line parallel to x-axis

(B) a line cutting both the axes

(C) a line marking positive acute angle
with x-axis

(D) a line paralle] to y-axis

131, If a=34, b=¢ =133, then the value of
@+ 0+ - Jabe is
(A 0
(Cy 50

(B} 111
(D) 100

134, If in a triangle, the circumeentre, incentre,
centroid and orthocentre coincide, then the

triangle is
(A) Acute-angled (B) Isosceles
{C) Right-angled (D) Equilateral

135. The internal bisectors of ZABC and ZACE
of AARC meeteachotherat Q. 1f £BOC =
110°, then £ BAC is equal to

{A) 40° (B) 53°
(Cy 90° (D) 110°

136. AC is the diameter of a circumcircle of
AABC. Chord ED is parallel to the dia-
meter AC. If #CBE = 50°, then the measure
of ZDEC is

(A) 30° (B) 90°

(C) 607 (D} 40° =
137, @ is the incentre of AABC and £BOC =

110°. Find £BAC

(A) 40° (B) 43°

{C} 20° (D) 55°

138. The numerical value of

: | l | 1 .
132, If (@ + 52 = (& + )2, then 842 45 [ & ][ - st
@487 = . "Fa cosf  cotf)\cosd cotd
(4) 4 (B) % (A) 0 (B) -1
€ =3 @) -4 (C) +1 (D) 2
) 2
133, If x+-—=5, then the value of 139. IFM=E1[hEPﬂuenfmnle+] .
* sind—cosfl 4 tan“8 -1
4 2
3y -:5.1' +3x+1 7 (A) %& (B ig]_
X+l
wE m4d of oF (c) 41 (D) 4
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£BOC = 110° 51, &t £BAC s g 7
(A) 40° (B} 550 e 5
(€} 9 (D) 110°
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140. An aeroplane when flying at a height of
3125 m from the ground passes vertically
below another plane at an instam when the
angles of elevation of the two planes from
the same point on the ground are 30° and
60° respectively. The distance between the
two planes at that instant is
{A) 6520 m (B) 6000 m

{C) 3000 m (I} 6250 m

The following pie-chart shows the expendfture
mcurred on the construction of a house in a city.
Study the chart and answer the question nos.
141 to 145

-‘.—l-;' ﬁ'f l;;l'J‘
i q"-
1=
Labear ‘ i .z-ﬁ
" -4‘ [
36 75 5
- F
Miscellanenis ""_1 Jff: i
T
141. The mean at the expenditure is on "3 -4
h of 7
(A} Brick (B} Cement _;.k"';
(C) Steel (D) Labour

142. The ratio expenditure on Steel, Cement and
Bricks is
(Ay 2:4:3
(C) 3:2:4

By 4:2:

D) 4:3:2

3
143, The highest expenditure m percentage is
(A} 40% (B) 30% (C) 45% (D) 60%

144. What part of expenditure on labour is in
respect of total expenditure 7

(A) 1 pant (B) 3 part

(C) + part @) {5 part
145, OFf the total expenditure, the percentage of

expenditure on steel and bricks together 15
(A) 90% (B) 20% (C) 25% (D) 30%

S 4147,
:?j'fj-F %E:r | _1;,

Study the following multiple bar graph carefully
and answer the question nos. 146 to 150,
Survey of the number of working and non-
working women over the years.

(1 Woeking women

Bl Mon-working worten
Ulp ==

=1 o
= =
B
T

-------------

R =
= N — |
i i i
1] T T

o I B i
L]
i
2 |

Mumber {in Millionsy ———=
=

L=
1
T

iR M0 EI'II

L7
Yoars—»

pnhf EI]

146. The number of non-working women i the
year 2010 was approximately (correct up to
an integer) what per cent of total number of
waorking as well as non-working women in
that year ?
(A) 23% (B) 25% (C) 29% (D) 31%
What is the ratio of numbers of werking
women Lo the non-working women in the
vear 2000 7 :
(A) 7:4 (B) 4:7 (C) 2:3 (D) 3:2
. What is the ratio of the number of women
working in the year 2006 to the number of

women working in the year 20107

(A) 5:17 B) 17:5
(Cy 17: 10 Dy I0:17

149, In which year was the difference between
the number of working and non-working
women the highest ?
(A) 2007 (B) 2008
() 2009 (Dy 2010

150. In which year or wears, the difference

hetween the number of working and non-
working women the lowest ?

(A) 2006 and 2007 (B) 2007 and 2008
(C) Only 2006 (D Only 2007

-
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141.

142,

143,

144.

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

A's income is 25% more than thar of B.
How many per cent is B's income less than
that of A ?

{A) 125%
{C) 20%

(B) 25%
(D) %

The ratio of the incomes of A and Bis5: 4
and the ratio of their expenditure is 2: 4. If
at the end of each year, each save T 10(,
then the income of 4 is

{A) T 3400 (B) T 3600
(C} 74000 (D) 4400
There is a loss of 10% if an article 15 sold

after allowing a discount of 28% on marked
price. If the article is sold at marked price,

then the percentage of profit will be
(A) 224 (B) 20
i ey (D) 10

A tank can be filled by one tap in 20
minutes and by another in 25 minwes, Both
the taps are kept open for 5 minutes and
then the second is turned off. In how many
minutes more the tank is completely

146.

147,

1C) +2

148,

149,

The average presence of students in a class
on Monday, Tuesday and Wednesday is 30
and on Wednesday, Thursday, Friday and
Saturday is 28, If the average number of
students on all the six days is 27, then the
number of students who attended the class
on Wednesday 1s

{B) 25
(D) 40

(A} 24
{C) 20
If sing —cos@ =0 and tang + cotg =x,
then x is. .
(A) U {B) +1
(D) -2
A printer numbers the pages of a book .

starting with 1, He uses 3189 digits in all.
The number of pages in the book is

{A) 1395
(Cy 1074

(B) 1075
(D) 1070

If one angle of a cyclic trapezium is mple
the opposite angle, then the greater angle is

filled ? (A) W¥ (B) 105°
(A) 9 (B) 174 (C) 120° (D) 135°
(© 11 (D) 12 ; ;
150, A tay is in the form of a cone of radius
I Lo 3-3 cm mounted on a hemisphere of same
145, If o ::4-+E' the numerical value of radius, The total surface area of the toy
o - b will be (taking 7 =2} is
(A4} 0 (B) 5 (A) 21450 sq. em  (B) 21435 sq. em
© 3 (D) 1 (C) 21534 sq. cm (D) 21562 sq. cm
SPACE FOR ROUGH WORK
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141,

142,

143,

144.

S gferafir awiEET ¥ frg

Afﬁrm,aa':ramﬁzﬁm%mw
Bt am, A Framd frrran s 7

(A) 12:5% (B) 25%
(C) 20% D) 50%
AT B ST AT T AT 50 4 ¥ | 3 ad

AN 2:4 ¥ | TEAWE 40 qeir 9
HHI 5%, 3191 1600 7 a0 7 3% &, 7t
A o T g7
(A) 3400
(C) = 4000

(B) T3600
(D) F4400

et oy 7, 9w aiff w285 2
T, 10% Ef T 3w o | e, af
A1 6 i IHF 4 o 7 T , A
ST T afes e S ?
(B) 20

{10

(A) 224
(C) 25

ﬁéﬁﬁﬁﬁﬁmzﬂﬁﬁﬁﬁ?ﬁ

| A 25 PR e eme |

34t et @t 5 e o et B,

-@ﬁﬂﬁﬂﬁéﬁﬁﬁmmﬁiﬁﬁﬂﬁ,aﬁ

145.

TN ST feT et § o st 7
(A) 9 (B) 174
© 1 (D) 12

146.

147,

148,

149.

150,

T T HOAT, SR T g 6
mﬁ#aﬂmmﬁrﬁrm%aﬁrgﬁm
TEATL, YFFATC T91 AT &1 72 28 2|
A, 3% 4T BE fa7 art a et &
Sfteer W 27 T 2, & quAr A o

saferm el it g s Gt o 7

(A) 24 (B) 25

{C) 20 (D 40

afz sing — cosg =0 1 tang +cotg ==x
gl,ﬁ.rfﬁrﬁﬁﬁiﬂ

(4) 0 (B) +1

{C) +2 (D) -2

T 5, UF 960 & 9O &t gy ey | @

A &7aT € | 9% 369 3180 =7 37 gea

A § | TRGET 9 e ¥ F 96 4
wreT feeaedt & 7

{A) 1595 (B) 1075

(C) 1074 (D} 1070

af% T S e A o i, o wep
10T T 30T 2, ot o = o 3 v
e ?

(A) 20° {B) 105°

(C) 120° (D} 135°

T faEiT 35 W Bowr o i ¥
AT = 8 ot 7w 36t B & v o

& F G 2 | TR, I Ry
ﬁgﬁaﬂm{ml}w}%mm%?

27

(A) 0 (B) 5 -
o - 3' 3 (A) 214:50 ¥ i (B) 214.35 7 Bt
) 3 ) 1 (C) 21534 = T (D) 21562 = &t
T F & fay w
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151.

152.

153

154.

155,

156.

PART - IV
GENERAL AWARENESS

Kinked demand curve is a feature of
{4) Monopoly (B) Oligopoly
{C) Monopsony (D) Duopoly

Which one of the following is an example
for Non-Banking Financial institution ?

(A} RBI (B) SBI
(Cy 10B (D} LIC

Which one of the following is the most
appropriate reason for Inequalities in
Income ?

{A) Racial factors

(B) Lack of opportunities

{C) Inheritance from family Environment
(T} Differences in Aty

The Finance Commission in India is
appointed by

(A} Prime Minister of India

(B) President of India

() Chairman of Rajya Sabha

(D} Speaker of Lok Sabha

By which Constitutional Amendment Ball,
did the Parliament lower the voting age
from 21 to 18 years ?

{4) 42nd (B) 44th

{C) 6lst (DY} 73rd

An electoral system under which a

legislature reflects the stwrenpth of the
various political parties is called

(A} Proportional representition

(B Direct election style
() Gallup Foll
(D} Gemymandering

A - MD 2012

157, Dual citizenship is an important feature n
which form of government 7

{A) Parlismentary (B} Federal
{C) Unitary (D) Authoritarian

158, What is the time limit given to Parliament
to pass the ordinance promulgated by the
President of India ?

(A} 6 days

(B) 6 weeks

{C) & months

(D) 6 months and six weeks

159, The Estimate Commitiee consists of
{A) 30 members from Lok Sabha
(B) 30 members from Rajyva Sabha
(C) 30 members from both Sabha
(D} 22 members from Lok Sabha

160. The Speaker of Lok Sabha is elected by
(A) all the members of Parliament
(B) the people directly
{C) all the members of Lok Sabha

{D) the members of the majority party in
the Lok Sabha

161, The first prammarian of the Sanskrit
language was

(A} Kalhana (B} Maitreyi
(C) Kalidasa (D Panini

162. The famous poet Kalidasa lived in the court
of

{A) Chandra Gupta |
{B) Samudra Gupta
{C) Kumara Gupta
(D) Chandra Gupta II
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163. Rajatarangini was written by
{A) Kalhapa (B) Alberuni
{(C) Harsha Vardhana (D) Kautilya

164, Who are the three, dgmaong the following
whao fought against British in 1857 Revolt 7

I. Kanwar Singh

]

- Tantia Tope

3. Nana Saheb

4. Malavi Ahmuduliah
(A) I,2and 3 (B} 1.3 and 4
{C) 1,2 and 4 (D) 2,3 and 4

165. Who is regarded as the second Alexandsr
(A) Jalal-ud-din Khilji
(B) Mubarak Khilji
(C) Khusru Khan
(D) Ala-ud-din Khilji

166. The largest delta of the world s
(A) Sunderbans (B} Amazon Basin
(Cy Greenland (D} Congo Basin
167, The canal which links Atlantic ocean with
Pacific ocean 15
(A) Suez (B) Malacca
(C} Panama (D) Gibralter
168. Which of the following is mor a patural
disaster 7
(A) Earthquakes
{B] Floods
(C} Nuclear Explosion
(D Voleanic Explosion

A - MD 2012
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169,

170,

171.

172.

173.

174.

175,

Which of the following is the highest peak
in undisputed Indian territory 7

{A) Mount Everest (B) Kanchenjunga
(C} Manda Dewvi (1)) Nanga Parbat

Which of the following rivers is not the
tributary of Ganga 7

{A) Indrawan (B) Son
(C) Gomari (D) Yamuna

The main function of insulin in the human
body is

(Al to maintain blood pressure

(B} to help'in digestion of food

(C) to control the level of sugar in the
body

(D} to check the level of jodine in the
body

Flants which flower only once in their life
time are known as

(A) polycarpic {B} moenocarpie
(C) monogamous [[i} monogeneric

The larvae of cockroach is called
(A) Caterpillar (B Nymph

(C) Maggot (D) Geub

If cream is removed from milk, its density
{A) Increases

(B} Decreases

(C) Remains the same

(D} May increase or decrease

In which of the following animals, is open
circulatory svstem found 7

(A) Prawn {B) Earthworm
{C) Toad {D) Man
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189. The 'Green House effect’ is produced due
to the presence of excess amount of

(A) Sulphur dioxide
(B} Nitrogen dioxide
() Carbon monoxide
(D) Methane

190. Wind rose represents
(A) wind wrbulance
{B} wind data |
(C) wind pressure
(D) wind temperature

191, Which of the followi ng Train runs between
New Delhi and Wagah ?

(A} Shatabdi Express
(B) Thar Express

(C} Maitree Express
(D) Samjhauta Express

192, ISRO launched the world’s first satellite
dedicated 1o education, the EDUISAT in the
month of

(A) June 2004 (By July 2004
(C) August 2004 (D) September 2004

193. The 2014 -Shnming World Championship
will be held in

(A} Granada in Spain

(B) New Delhi in India
{(C} Toronto in Canada
(D} Moscow in Russia

194, Maria Sharapova clinched the French Open
Final, 2012 after defeating in Final

{A) Venus Williams of US.A.
(B) Sara Ertant of lraly

(C) Serena Williams of T.S.A.
(D)} Sania Mirza of India
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195,

As per 2011 census, among the following
States, which State has the lowest child-sex
ratio ?

(A} Chhatisgarh  (B) Punjah

(C) Kerala (D} Haryana

196. Which one of the following rivers in India

1%7.

198,

199,

200,

has been declared as the National River 7
(A} Godavari (B} Krishna
() Ganga (D) Narmada

Who is at present the Chairperson of
National Women Commission 7

(A) Krishna Tirath
(B) Chandresh Kumari
(C) Mamta Sharma
(D} Ambika Soni

The —world’s highest rail bridge being
constructed in the State of J & K will be on
which of the following rivers 7

(A} Jhelum (B) Chenah
{C) Indus (D Rawi

Which one of the following Indian film
actors has been conferred the Honorary
Doctorate i Arts and  Colture by
Bedfordshire University, London 7

(A} Amir Khan

(B) Anil Kapoor

{C} Amitabh Bachchan
(I¥ Shah Rukh Khan

Which one of the following was crowned
Pantaloon’s Femina Miss Tndia Warld,
20127

(A} Vanva Mishra
(B) Prachee Meera
{C} Rochello Maria Rao
(I} Shakshee Hariharan
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